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Quiz 13, Attempt 1
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Write down the p-value in terms of the appropriate distribution.


Quiz 11, Attempt 2
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4. A system contains four components that operate independently. Let p; denote the
probability of successful operation of the ith component. Test Hy < p; = 090, p, = 0.90,
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p3 =080, p, = 0.80, if in 50 trials the components operated successfully as follows:

Component | 1 2 3 4

Successful I 40 48 45 40
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27. Let'X,,..., X, bearandom sample from an exponential distribution, X; ~ EXP (6).
(8) ‘Derive the generalized likelihood ratio (GLR) test of Hy : 6 = 6, against H,:
6 # 6,. Determine an approximate critical value for size « using the large-sample
chi-square approximation.




